6/21-T/2 s & 15 ¥

- AR R Y R |

LERE B RRP R GRS RER KEY B )PP AR ¥ F line B3 L S
p T ¥ p 3 iT¥
1. #&% 92~93 1. #& 1% 40~41
6/21(— )| 2.%& W1 = Ffrz* 6/28(— ) |2.%& W1 = Ffrz¥
3. B ( ) 3. B ( )
1. #< ¥ 30~31 1. #ici 42~43
2.8 W2 Ao 2. W2 R E e
1. #1¥ 34~35 1. #ci® 44~45
_ N | 2.7 W3 = iF s _y 2.7 W3 A gE i
6/23C=) 13" s ¢ ) 6/30C=) 13" @ a4 )
1. #ci% 36~37 1. #ici® 46~47
NP A= A = =
6/24C2 ) 3" g ( ) /1020 19 )
1. #1¥ 38~39 Y
2.7% Wh = 3% ~ % 2.7 W5 225 ~ 2%
6/25(% )| 3. B /2 () |3. BFm#E
4. @3 ( ) 4. B3 ( )




LRRARIER T LR A G AR BT B AT s Y

2.+ F ehes L BWFE () https://pse. 1s/315879
#2 (s - ) https://pse. 1s/322q7 ]
4 Z(E#) https://webetextbook. knsh. com. tw/

. BA L e &Y hATHARHKREF S http://www2. tn. edu. tw/hlearning/
4, >4 3 5(200) @ FEAzam b ’ﬁ o » ¥ I YouTube " AR e §2 & 340 :E ‘?"55??"]5(’%

https://reurl. cc/VEaXnN



https://pse.is/3f5879
https://pse.is/3g2qjj
https://webetextbook.knsh.com.tw/
http://www2.tn.edu.tw/hlearning/
https://reurl.cc/VEaXnN

